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S £ , 343,170 334,130 17,690 316, 450 43,700 6,190 37,510
S ey 204, 420 153, 420 14, 070 139, 340 31, 160 5,300 25, 860
5 K S ey 125, 290 108, 630 2,790 105, 840 9, 030 840 8, 190
B - BB oL s ) — b 900, 010 31,770 580 31, 190 1, 620 10 1,610
S H ey 111,510 39, 160 200 38, 960 1, 860 40 1, 820
e D fih 1, 940 1, 160 40 1,110 40 - 40
it X 70, 780 4,890 250 4, 650 920 210 720
K ey 3,160 2,020 210 1,810 690 180 510
9] K K e 1,900 1,590 - 1,590 230 30 200
R =P EIN 62, 820 470 - 470 - - -
S = ey 2, 880 790 20 780 - - -
* 1) fth 20 20 20 - - - -
B = X 51, 300 9,700 890 8, 800 1,000 310 690
7S & 7,630 6, 110 760 5,350 680 310 370
9] K S & 2,630 2, 150 120 2,040 310 - 310
BEG - BRE O ) — Y 37,470 680 10 670 20 - 20
Bk =4 & 3, 550 750 - 750 - - -
z » fis 30 - - - - - -
& 5 X 37,470 7, 260 150 7,110 570 60 510
K e 3, 800 3,210 90 3,130 190 60 130
9] K K ey 2,740 2,410 10 2,400 270 - 270
SR - BB O Y — b s 29, 250 880 50 830 10 - 10
S =g ey 1, 650 720 - 720 100 - 100
* D th 40 40 - 40 - - -
xd 1t X 30, 050 9, 400 260 9,140 580 50 530
S ey 5, 000 4, 030 170 3,870 410 40 370
9] K K ey 4, 150 3,940 80 3, 860 120 - 120
SR - BB L Y — b s 18, 920 710 0 710 20 10 10
S =g ey 1, 960 710 20 690 40 - 40
Z* D fth 10 10 - 10 - - -
h r X 52, 520 5, 660 170 5, 490 340 - 340
S ey 1, 800 1,570 130 1, 440 200 - 200
9] K K ey 2,210 2,010 40 1,970 120 - 120
SR - BB O Y — b s 46, 660 1,290 - 1,290 - - -
S =g ey 1, 840 780 - 780 20 - 20
Z* D th 10 10 - 10 - - -
[1i2] X 50, 600 3,480 40 3,440 140 - 140
S & 1, 650 1, 460 30 1,430 140 - 140
931 ok S & 910 890 10 880 - - -
BEE - oL s ) — Ry 46, 550 650 - 650 - - -
S B & 1,500 470 - 470 - - -
z 2 ft - - - - - - -
P X 39, 750 10, 680 210 10, 480 1,180 120 1,070
K & 4,720 3, 580 130 3,450 760 120 640
193] PS K & 4, 130 3,640 50 3,590 310 - 310
BRI B O ) — N 25,190 1, 190 - 1, 190 20 - 20
S 5 & 5,590 2, 160 30 2,130 90 - 90
z ) 1, 110 110 - 110 - - -
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64, 390 - 130 5,780 23, 090 35, 390 570]4t =3
370 - 80 290 - - 70| Kk T
50 - - 50 - - 200 B kA i
62, 170 - - 4,010 22,770 35, 390 190 # % H
1, 800 - 50 1,430 320 - 290 & B 1
- - - - - - -l % D it
40, 440 - 1,060 11, 480 11, 360 16, 530 1608 & K
810 - 790 20 - - 20 & ik
170 - 150 20 - - - B ok R OiE
36, 650 - 120 9, 330 10, 670 16, 530 1o| & # H
2,810 - - 2,110 690 - - & ' &
- - - - - - 30| = D fHh,
29, 560 - 560 4,140 8, 350 16,510 90(1& =] X
350 - 310 40 - - 40| A& T
50 - 50 - - - 20 B kA i
28, 330 - 120 3, 770 7,920 16,510 40 & #% G
830 - 80 330 420 - B - S =
- - - - - - -l % D s
20, 000 - 790 4,430 5,130 9, 650 70( 1tk 1t =3
540 - 460 80 - - 20| & T
100 - 90 10 - - -l B ok K &
18, 180 - 180 3, 630 4,730 9, 650 10| & #% (s
1,180 - 70 710 400 - 40| #% 1 &
- - - - - - -l % D s
46, 310 - - 2,710 17,670 25,870 210|eh 3 =3
30 - - 30 - - -| & i
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45, 800 - - 2,070 14, 590 29, 140 | & w - & &
1,010 - 20 680 310 - 20 & B &
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130 - 130 - - - 401 B5 kK iE
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X i X 30, 030 11,110 150 10, 960 630 20 600
S & 4,420 3, 690 70 3, 620 400 20 370
92) K K & 4,730 4, 370 60 4, 300 190 - 190
R - BB O L s ) — b 15, 470 650 10 640 10 - 10
#: = & 5, 340 2,340 - 2, 340 30 - 30
= D i 60 60 10 50 - - -
x s F X 37,410 4,890 100 4,790 370 - 370
VN & 2,970 2,510 70 2, 440 320 - 320
5 K A & 560 480 20 470 50 - 50
RS - BEE O L s ) — b i 31, 400 1, 050 10 1, 040 - - -
Bk & Y 2, 460 820 - 820 - - -
= D 1t 20 20 - 20 - - -
B =R X 44,310 2,520 70 2, 460 200 10 200
S & 1,570 1, 310 70 1, 250 140 10 140
5 K A & 530 450 - 450 30 - 30
RS - BEE O L s ) — b i 39, 290 320 - 320 20 - 20
Bk & s 2,900 440 - 440 - - -
= D 1t 20 - - - 20 - 20
i} E n X 43, 480 13,610 710 12,900 1,030 230 800
S & 6, 780 5, 440 520 4,930 660 160 490
193] P S & 6, 060 5,210 150 5, 060 310 70 250
R - RO L s ) — b i 27, 140 1, 990 50 1, 940 60 - 60
Bk gt e 3, 460 970 - 970 - - -
z » it 30 - - - - - -
E n X 94, 630 17,840 1,000 16, 840 1,350 270 1,080
PN & 10, 020 8,010 720 7, 290 920 220 710
193] K NS & 7,320 6, 700 260 6, 440 360 60 310
R - RO L s ) — b i 72,120 1, 340 20 1,320 50 - 50
8 =g & 5,070 1, 760 - 1, 760 10 - 10
z D {1, 90 30 - 30 - _ _
B’ E n X 93, 380 18,730 1,310 17, 420 1,770 300 1,470
PN & 9, 940 7,610 1, 030 6,570 1, 000 230 770
193] K NS & 7,940 7, 100 160 6, 930 440 80 370
R - RO L s ) — b i 65, 600 2,170 110 2, 060 220 - 220
8 =g & 9, 850 1, 850 - 1, 850 110 - 110
* o i 50 - - - - - -
B 59 X 40, 520 14, 400 880 13,510 2, 400 400 2,000
S & 10, 890 8, 630 790 7, 840 1, 790 390 1,410
5 K S & 3, 960 3,370 80 3, 290 420 20 400
BEAG - BEE oL s U — R 21, 160 1,070 - 1,070 90 - 90
Bk & & 4,470 1, 310 10 1, 290 90 - 90
z » fih 30 20 - 20 10 - 10
4 ¥ X 61, 450 26, 080 1,250 24,830 10,280 1,680 8, 600
K T 20, 990 11, 590 1, 080 10, 510 8,510 1, 650 6, 860
5 K S & 8, 750 6, 990 170 6, 820 1, 380 30 1, 350
BEAG - BEE oL s U — R 24, 220 2,410 - 2,410 140 - 140
Bk & & 7, 440 5, 040 - 5, 040 250 - 250
* %) ftt 40 40 - 40 - - -




P (51X 57) BEEE ()

Z DAt

JefEE
e | am | em | 3~sm | e~om
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30, 270 - 110 3,030 12, 950
1,510 - - 690 830
41, 400 - 120 4,000 22, 350
110 - 50 60 -
50 - 50 - -
38, 890 - - 3,330 20, 620
2,350 - 20 610 1,720
28, 700 - 1,630 8,260 9, 850
670 - 630 40 -
530 - 480 50 -
25,040 - 290 6, 400 9, 400
2,430 - 230 1,740 450
30 - - 30 -
15, 340 - 2,110 15,130 25,720
1, 040 - 990 50 -
260 - 260 - -
70,710 - 240 12, 620 25,470
3,270 - 630 2,390 250
70 - - 70 -
12,630 - 2,780 33,310 22, 360
1, 300 - 1,120 180 -
380 - 280 100 -
63, 090 - 550 27, 140 21,220
7,800 - 770 5,890 1, 140
50 - 50 - -
23, 480 - 840 6, 040 12,030
390 - 380 10 -
170 - 170 - -
19, 850 - 170 4,330 10, 780
3, 060 - 120 1,700 1,250
24,920 - 1,820 10, 000 10,570
890 - 860 30 -
390 - 330 60 -
21, 550 - 310 8, 240 10, 470
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p:| =3 44, 260 16,770 1,660 15,110 730 920 630
PN s 9, 280 8, 310 1, 390 6, 920 430 50 370
%3] P N & 5, 380 5, 090 230 4, 860 110 40 80
R - BB oL U — YA 25, 380 1, 520 30 1, 490 140 - 140
% & T 4,030 1,730 10 1,720 30 - 30
7 %) it 190 130 - 130 10 - 10
W B =3 76, 740 18, 870 1,310 17, 560 2,320 280 2,040
PN s 7, 060 5,610 1, 040 4,570 880 100 780
53] IS K T 11, 570 9,670 270 9, 400 1, 170 180 990
BRI - BB oL U — b 52, 390 1,910 - 1,910 130 - 130
#k 5 T 5, 600 1, 680 - 1, 680 150 - 150
z %) it 120 - - - - - -
# R =3 47,660 14,810 380 14, 430 920 190 730
PN s 8, 900 7,500 330 7,170 520 130 380
53] IS K T 6,190 5, 700 50 5, 650 310 60 250
BRI - BB oL s U — b 28, 960 870 - 870 20 - 20
#k 5 T 3, 590 720 - 720 80 - 80
z %) it 20 20 - 20 - - -
1] = % =3 51,210 17,590 760 16, 830 2,270 170 2,110
PN s 11, 080 8, 570 650 7,920 1, 830 130 1,710
53] IS K T 5,310 4, 880 110 4,770 240 - 240
BRI - BB oL U — b 31, 250 1, 880 - 1, 880 90 - 90
#k & ¥ 3, 370 2, 080 - 2, 080 110 40 70
z %) it 190 180 - 180 - - -
£ Z ; =3 57,040 12, 960 630 12,330 1,890 280 1,600
PN s 7, 360 5, 300 420 4, 880 1, 380 240 1, 140
53] IS PN ¥ 4, 750 4, 150 30 4,120 350 50 300
BRI - BB oL U — b 40, 530 1, 480 140 1, 340 90 - 90
#k & ¥ 4, 380 2,020 30 1,990 80 - 80
z %) it 20 10 - 10 - - -
(E3 5 =3 72, 340 20, 990 1,330 19, 660 3,290 220 3,070
PN s 13, 450 9,910 870 9, 040 2,180 170 2,010
53] P PN ¥ 7,870 6,910 460 6, 450 590 50 530
A - B oL U — b 42,780 1, 640 - 1, 640 160 - 160
#k & ¥ 7,980 2, 450 - 2, 450 360 - 360
z %) it 260 90 - 90 - - -
B = F= =3 59,130 25, 250 1,930 23,320 3,610 590 3,010
PN s 17, 300 13, 440 1,570 11, 870 2, 980 590 2, 390
53] P PN ¥ 6,920 5, 640 240 5, 400 500 - 500
BRI - BB =L U — bk 28, 820 2,610 80 2,530 40 - 40
% s 5 5, 790 3, 380 20 3, 360 90 - 90
z » it 290 180 20 160 - - -
E Fr =3 86, 560 26,310 980 25, 330 2, 240 270 1,960
PN s 15,110 12, 090 730 11, 360 1, 600 270 1, 330
5 o, PN s 11, 740 10, 690 140 10, 550 320 - 320
BRI - BBy U — bk 55, 000 1, 360 80 1,290 170 - 170
o & s 4, 500 2,010 30 1, 980 150 - 150
z » it 200 160 - 160 - - -
i 154 =3 70, 570 20, 330 1,260 19,070 3, 660 430 3,230
PN s 19, 530 11, 890 1, 200 10, 700 2, 530 230 2, 300
531 o, PN s 7, 040 4, 600 40 4, 560 920 200 720
BRI - BBy U — bk 31, 640 1, 640 - 1, 640 130 - 130
% TS s 12, 290 2,170 20 2,150 80 - 80
z ) it 60 30 - 30 - - -
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26,670 - 1, 300 11, 230 6,910 7,230 100|1E X
550 - 470 70 - - - K &
150 - 140 10 - - 30 B5 koK &
23, 670 - 310 9,810 6, 330 7,230 501 & f5 - &k B
2, 240 - 340 1, 310 590 - 30| H by
60 - 30 30 - - -1 = ) i
55, 370 - 1,720 13,160 17, 350 23,140 1803 ®’ X
570 - 560 10 - - - K &
690 - 400 300 - - 301 BF kA i
50, 320 - 230 11, 040 15,910 23, 140 40 & B - &% F/
3, 670 - 540 1, 690 1, 440 - 100| & H &
120 - - 120 - - -l = ) it
31,930 - 1,880 8,910 10, 450 10, 690 -|88 B X
880 - 820 70 - - - K &
180 - 160 20 - - -l B ok A i
28, 060 - 360 6, 570 10, 450 10, 690 -| &% Mm% F
2,800 - 540 2, 260 - - -l & " &
- - - - - - -1 = ) i
31,230 - 1,270 8, 560 11,630 9,770 12(p £ H KX
650 - 630 20 - - 301 & ik
190 - 190 - - - -l B ok A i
29, 240 - 210 7, 680 11, 590 9,770 40 & B - & 7/
1,130 - 230 870 40 - 50| &% H e
20 - 20 - - - -1 = ) i
42,130 - 1,730 8,870 8, 330 23,190 0ME 2 I K
680 - 620 60 - - - K &
250 - 250 - - - -l B ok K&
38,910 - 360 7,630 7,720 23, 190 501 & 5 - Bk B
2,270 - 480 1, 180 610 - 10 & H e
10 - 10 - - - -l = ) it
48, 040 - 2, 460 22,500 18,670 4, 400 20|1% = =3
1, 360 - 1, 360 - - - - K &
350 - 350 - - - 201 BF kA
40, 980 - 220 19, 140 17, 230 4, 400 -| &% m - &% F
5, 170 - 530 3, 180 1, 450 - - & H &
170 - - 170 - - -l = ) it
30, 210 - 2,390 11, 640 11,980 4,190 50R £ & K
880 - 680 190 - - - K &
780 - 530 250 - - of Bk A &
26, 140 - 820 9, 780 11, 350 4,190 30| & - & H/
2,310 - 270 1, 400 640 - 20| &% H &
110 - 90 20 - - -l % D it
57,990 - 3,040 20, 860 16, 360 17,720 20| 5 X
1, 420 - 1, 400 20 - - -l K &
710 - 700 10 - - 201 BF kA ¥
53, 470 - 520 19, 150 16, 080 17,720 -l & o & B
2, 340 - 380 1,670 280 - -| & H &
40 - 40 - - - -l % D it
46, 470 90 6,970 15,210 18,970 5,220 110|274 X X
5, 060 90 4, 250 720 - - 40 & &
1,520 - 1, 290 230 - - -l B ok A &
29, 830 - 630 10,010 13,970 5, 220 50( # fin - & B
10, 020 - 800 4,220 5, 000 - 30| H &
30 - - 30 - - -l %= D it




